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ABSTRACT

Scientific discovery learning has proven to be eaefuls
application of constructivist theory to science eation, but
students encounter many difficulties in the procesd need
support. This paper describes research concerhengroblems
learners experience during the data interpretasind model
evaluation phases of scientific discovery learnBigdents tried

to solve a number of problems that required botha da

interpretation and model evaluation. Their reaspsiteps were
recorded using both verbal reports and written answThe
results of this experiment gave an indication oé gort of
reasoning steps with which students had the md8tudties.

These results were used to provide suggestionsdgnitive

tools that could support the learner during thasks.
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1. INTRODUCTION

1.1 Constructivism
Since the second half of the twentieth centurycibvestructivist

view of knowledge has become popular among cognitiv

scientists. The essence of the constructivist madethat
knowledge is constructed in the mind of the learfiwdner,

1986). Knowledge, as the term is used by constrigtii does
not refer to a representation of the real worldtead it is seen
as a “collection of conceptual structures that [arg viable
within the knowing subject’s range of experienceVof

Glasersfeld, 1989, p.125). Knowledge in this sedses not
have to match reality, but it has to fit it; in thay a key fits a
lock (Bodner, 1986); it has to be compatible with i

An acceptance of the constructivist view of knowjedhas
important implications for education. Von Glaseldf¢1989)

differentiates between training and teaching. EXempf the
former are such activities as getting student$itovt a ball in a
specific way or to perform a multiplication algdwit, whereas
the latter has to do with getting students to ustded a certain
concept. Von Glasersfeld argues that classicalruasbn

methods such as rote learning and repeated pracgoaseful in
training, but will not bring about the understarglin students
that teaching aims to effect. While critics havechmuo say
about the problems of constructivism as a theowgnethey
acknowledge the value of its applications in edocatStaver
(1998) presents a summary of the criticisms of top#vist

theory and counters the critics’ arguments.

The constructivist approach to education seemscesfyewell

suited to science education. Bodner (1986) shows tiee
misconceptions that students bring with them to rsevence
classes can be explained by the constructivist mdties paper
deals with a specific application of constructivisieory to
science education: scientific discovery learning.

1.2 Scientific discovery learning
Scientific discovery learning, also known as inguearning,
refers to a form of learning where students arepbtesed to

particular questions and experiences in such a thay they
“discover” for themselves the intended conceptsartiher,
1997, p.489). De Jong & Van Joolingen (1998) déscseveral
problems students encounter when engaging in #aent
discovery learning. They categorize these probleased on
the stage of the discovery learning process in kwttiey occur:
hypothesis generation, design of experiments, pnétation of
data or regulation of learning. De Jong & Van Juogdin
subsequently discuss a number of methods of supgoattte
learners that have been researched. Possible supetiods
are discussed for all of the stages in the disgoWearning
process, except for the data interpretation sthgarners have
however been found to experience difficulty in thiage, e.g.
while interpreting and comparing graphs (Linn, Laymand
Nachmias, 1987 cited in De Jong & Van Joolinger@8)9This
paper will describe research concerning the dilfies students
have during the closely related tasks of data pné&tation and
model evaluation.

1.3 Computer modeling and simulations
Computers can be used by students during scieutigicovery
learning to enable them to create models of theasdn or
concept they are learning about. Students can tisenthese
models to run simulations and compare the restuitis Wweal
world” data either gathered from experiments orvjgted by
teachers. Used in this way, computers enable stsidercreate
models and test their validity relatively easilyar/ Joolingen,
De Jong, and Dimitrakopoulout (2007) discuss séweegs in
which computers can be used to assist studentsigduhie
process of discovery learning. One of these wayw isffer
tools that help the learner analyze the data, Spaky graphs,
generated by running simulations. Based on theltsesil the
research concerning students’ difficulties with adat
interpretation and model evaluation, suggestiomsctomputer
assistance during these tasks will be done.

1.4 Data interpretation
The data to be interpreted in scientific discovearning tasks
is usually available in tables and graphs, e.gthim Co-Lab
environment, Van Joolingen, De Jong, Lazonder, [Sheey,
and Manlove (2005). This article will focus on ddtet is
displayed in the form of graphs.

Quite a lot of research on graph interpretationdlesady been
done. Friel, Curcio, and Bright (2001) describe tréical
factors that influence graph comprehension: thepqse for
using graphs, task characteristics, discipline attaristics, and
reader characteristics. Shah, Mayer, and Hega@@9)l and
Shah & Hoeffner (2002) discuss problems studente heith
the interpretation of graphs in texts, particulaity social
textbooks. The result of their research is a Ifsingplications
for the design of textbook graphs and data displaysh as
whether to use line or bar graphs, which colorase and what
scales to use for the axes. These findings areulugef
designing the layout and style of graphs generayedomputer
simulations during the scientific discovery leagiprocess.
However, students also face other problems whesrprgting



graphs, e.g. when contrasting the results of arrxent with
predictions based on simulations of a model.

Research by Leinhardt, Zalavsky, and Stein (199®himbe
more relevant for the sorts of graph interpretatidasks
students have to do during inquiry learning. Thegatibe four
typical tasks when working with graphs:

- Prediction (e.g. where will other points, not egjtly
plotted, be located?)

- Classification (e.g. what sort of function does rapi
describe?)

- Translation (e.g. how would a time-distance graptao
function described by a time-speed graph look?)

- Scaling (e.g. what does a unit on each axes regfdse

These tasks are then classified based on four giregie

- Action (interpretation or construction of the graph
- Situation (setting and context of the graph)

- Variables used (categorical, ordinal or interval)

- Focus (either on local or global features of tregpd)

Furthermore, they discuss the problems that stsdent
experience during graph interpretation and find the most
important problems fall into three categories: &ljlesire for
regularity; (2) a point wise focus (as opposed toae global
focus); and (3) difficulty with abstractions of ttgraphical
world. These are the sort of problems studentdiletly to run
into during graph interpretation in the context dicovery
learning.

Beichner (1994) has developed a test that assessdents’
proficiency in working with kinematics graphs anashused it
to find a list of common difficulties students ereace when
working with this sort of graphs. These difficuttiewere
classified as follows:

- Graph as picture errors (the graph is considerebet@
photograph of the situation)

- Variable confusion (no distinction is made between
distance, velocity and acceleration)

- Nonorigin slope errors (students have difficulty
determining the slope of a line that does not plassugh
the origin)

- Area ignorance (the meaning of areas under kinemati
graph curves is not recognized)

- Arealslope/height confusion (axis values are used o
slopes are calculated when the area under the gsaph
relevant)

It is worthy of note that all of the research deoefar on graphs
of functions has focused on interpreting a singépb at a time.
No research seems to have been done yet on comparin
different graphs, an action that is integral irestific discovery
learning. This means that such a test will havbeaeveloped
specifically for this research.

1.5 Model evaluation

The value of dynamic modeling in education is wydel
recognized. Sins, Savelsbergh & Van Joolingen (2@0& an
overview of the many different ways in which modelse
considered useful in an educational setting.

In a scientific discovery learning setting, modehleation is
closely related to data interpretation. Sins e{2005) describe
students as engaging in model evaluation when ‘tihetermine
whether their model is consistent with their owridde, with

data obtained from experiments and/or with desorgt of

behavior about the phenomenon being modeled. Thende
part of this description, determining whether theiodel is
consistent with data obtained from experimentspireg data

interpretation. Hogan & Thomas (2001) describe {hast of
model evaluation as model interpretation.

Although the value of dynamic models in educatian i
recognized by many, until recently no research thaeh done
which examines how students would systematicalyy their
models (Doerr, 1996). Since then Lohner, Van Jgelm
Savelsbergh, and Van Hout-Wolters (2005) have aedly
students’ reasoning during inquiry modeling taskswever,
even in recent research the amount of attention ntioelel
evaluation part of a modeling task has received,deen rather
low.

1.6 Scaffolding or distributed intelligence

Before design of a supporting tool can begin, aparant
question has to be answered: is this tool intenede a
scaffold or a part of a distributed intelligencewark? Or as
Salomon, Perkins & Globerson (1991) state thisrdisbn: are
the effectsof the tool orwith the tool most important? If the
former is the case, the support the tool offersikhtade as the
learners become more skilled at interpreting anchparing
graphs. The goal of this tool is primarily to hégmch students
the skill of interpreting graphs and evaluating eisdIf the tool
is regarded as part of a distributed intelligencetwork,
consisting of the student and a number of cognitoas, its
primary goal is different. In this situation the shamportant
task of the tool is to help the learner with thektaf data
interpretation and model evaluation. This shoulsultein the
learner being more skilled at interpreting graphd avaluating
models with the tool's assistanceThe student does not
necessarily become better at these tasks in thenabwf the
tool’'s support.

Because graph interpretation and model evaluatienuaeful
skills in many different contexts, the primary gadlthe tool

should eventually be to teach these skills to tharrer.
Therefore the tool will be regarded a scaffold; afssistance
fading as the learner becomes more proficient atstills of

interpreting graphs and evaluating models. Howebefore a
lot of time is invested in the design of such altoan

experiment should be done to find out what sortlifffculties

are experienced by students during graph interpoataand

model evaluation. This is the goal of the experitdascribed
in this paper.

1.7 Research questions
The aim of the research described in this paptr @swer two
questions:

1. What sort of problems do students experience when
interpreting graphs and evaluating models during an

inquiry learning task?

What sort of assistance can a cognitive tool offer

students during the tasks of graph interpretationl a
model evaluation?

2. METHOD

2.1 Participants

Eighteen students (average age 21.2 years; 11 mdn7a
women), following 15 different academic majors, t#pated

in the experiment. All participants completed plegstourses in
high school, which was a requirement for partidgatin the
experiment, because some of the tasks required sic ba
knowledge of physics.

2.2 Materials

The participants used a laptop to view web pagese T
experiment was divided into two parts. The firsttgansisted
of 21 multiple choice questions in the mechanicshao. The



second part of the experiment introduced a simpbslaiing

language that students used to solve a number aiflgns

similar to those encountered during inquiry leagnsituations.
This is the same modeling language that is useberCo-Lab

learning environment discussed in Van Joolingeal e(2005).

The materials used in both parts of the experiraemtdiscussed
below and can be found in the appendices.

2.2.1 Multiple choice questions

The multiple choice questions used in the experimeere
those created by Beichner (1994) for the Test adddstanding
Graphs in Kinematics (TUG-K). All questions werartslated
from English to Dutch and presented on a singlepagb, this
allowed participants to easily go back to previgushswered
guestions and change their answers if they wist\dtken they
were done, their answers were saved in a datafhseweb
page with these translated questions can be faurappendix
A.

2.2.2 Models and simulations

The second part of the experiment began with amdottion
which makes clear to the participant what can lpeeted. Next
the simple modeling language used during the sepandwas
introduced and the different symbols were showthécontext
of an example and their meanings were explaineterAhis

explanation two example cases were shown, whichewer

structured in the same way as the real cases ly-thalfive real
cases were shown to the participant. Participaet® wsked to
think aloud during the cases and audio recordirityvaoe was
used to record their speech.

All cases dealt with the data interpretation andieh@valuation
phase of the scientific discovery learning procassl were
structured in the same basic way: (1) a situatias described;
(2) a (correct or incorrect) model of this situatiwas presented;
(3) the results of a simulation with this model evahown in a
graph; and (4) a specific task was given. In the axample
cases this task was replaced with a conclusionofAthe web
pages used in the second part of the experimenbedound in
appendix B. Answer forms, used by participants doawing
model implementations and doing calculations, aotuded in
appendix C.

The following subsections discuss design consideratand
goals of the model explanation and the differestesa

2.2.2.1 Explanation

The different symbols and arrows that make up thelating
language were introduced in a simple example. Aereg
provided the names and meanings of these symbdistzortly
described their use in the example model.

A second model, and the results of a simulatioh wits model,
showed how a constant acceleration leads to lnéacteasing
speed and quadratically growing distance.

2.2.2.2 First example case

A simple situation and an extremely simple, butomect,

model of this situation were described. The errothe model
was obvious and the goal of this example was matoly
reiterate the meanings of all the different symtzoid arrows in
the modeling language.

2.2.2.3 Second example case

The main goal of the second example case was to $hat
‘invisible’ errors can exist in a model. This isgsthle when
constants have wrong values (as is the case iexample) or
when variables are incorrectly calculated from ecrinputs.

Both example cases also served to familiarize #méigipants
with thinking aloud and the situation-model-simidattask
structure used in the ‘real’ cases.

2.2.2.4 First case

The model used in this first real case containsfainly obvious
error. This error could be discovered by compatimg model
with the described situation or by comparing thsults of a
simulation with this model to data from the desedisituation.

2.2.2.5 Second case

Participants were asked to answer three questibositahe

results of a simulation, which required them to dreand

interpret a graph with two different plots. An inmtant goal of

this case was to familiarize participants with eliéint properties
of a rubber band (length, elasticity constant amdjth when in
a relaxed position), because the same rubber bamasused in
the third and fourth cases.

2.2.2.6 Third case

Although the model in this case was more complitatean

those the participants had encountered thus farast expected
the participants would be able to understand itabee they had
already worked with parts of the model in previmases. To
successfully complete the task in this case, ppaiits had to
combine their knowledge of the situation, the moaletl the

results of a simulation with the model.

2.2.2.7 Fourth case
The situation and model used were the same as ithdise third
case. The only difference was in the results ofthailation.

2.2.2.8 Fifth case

The last case was unique, because no situationdesibed.
Therefore participants would have to reason abbetrmodel
without being able to use specific domain knowledgeut the
situation being modeled.

2.3 Procedure

Participants sat down in front of a laptop and wgiven a short
explanation of what they could expect during thpezknent.
Before the experiment started they answered quesstbout
their age, their sex and their academic major.

During the first part of the experiment, the mutipchoice
questions, there was no interaction between thécfamt and
the experimenter. Participants were asked to notifig
experimenter when they had answered all the questand
were ready to continue.

The experimenter sat next to the participant duthegsecond
part of the experiment and monitored his/her pregr&efore
the participant began with the first example cabe, audio
recording software was turned on. To stimulate ghagticipant
to think out loud, the experimenter repeated thggsstion in
the introduction to read the texts out loud andherr suggested
that participants described the things they notimebboked for
when studying models or graphs. When participarsevgilent
for more than a minute, the experimenter remindezt to
think out loud by asking what they were thinking.h&v
participants indicated they did not know how toqe®ed with a
task or were not making progress for more thannarfénutes,
the experimenter provided helpful hints to helpntheomplete
the task. A list of these hints was available faclecase and can
be found in appendix D.

2.4 Analysis

For each case, in the second part of the experjnaetist of
observations and reasoning steps necessary to etenipe task
was created. The necessity of most of these stdipsved from
the available information and the nature of thek.taBor
instance, to calculate the (constant) speed ofbggcbbased on
its distance-time graph, it is necessary to finel sfope of this
graph. During the experiment some participants doun
unexpected ways to successfully complete certakstdn these



cases their solutions were added to the liststasative steps.
These lists can be found in appendix E.

Each observation or reasoning step was also dlkedsif
according to the scientific reasoning activitiestidiguished by
Lohner et al. (2005). Because participants did hate to
hypothesize or design their own experiments durthis
experiment, the only categories used were datapirggtion,
model evaluation and model implementation. To bé db
classify steps more precisely, subcategories werated. For
data interpretation these subcategories were odseny
calculation and conclusion. For model evaluatidreyt were
based on domain knowledge, based on modeling keigwland
based on mathematical knowledge.

The audio recordings of the participants, in corabon with
the calculations and answers they wrote down oir Hreswer
sheets, were used to score each participant on reasloning
step. There were 4 possible scores:

- 1 point, if they used a step correctly;
- 0.5 points, if they used a step incorrectly (e.gdma
mistake in a calculation);

- 0.25 points, if they used a step, but only aftex th

experimenter gave a hint (e.yvhich forces are in
balance when the car has come to a hatZase 3);

- 0 points, if they completely failed to use a steghe
experimenter had to explicitly inform them of apste

(e.g. ‘When the car is no longer moving, the force
exerted by its motor and by the rubber band are

equal.).

It was hypothesized that participants’ score on thdtiple
choice questions (Test of Understanding Graphsitietidatics)
would be a better predictor of their score on #espning steps
that were classified as ‘data interpretation’ tb&their score on
the other items. To test this hypothesis a ‘datarpmetation
score’ was calculated for each participant by sumgmihe
scores for all the data interpretation items antinadeling
score’ was calculated by summing the scores for nioelel
evaluation and model implementation steps. The d®ear
correlation of both of these scores and the scorthe multiple
choice test was then calculated.

To get an indication of the type of steps partioipahad the
most difficulty with, the score of each participamds summed
per step to generate a ‘step score’. The ten stépshe lowest
scores were then examined.

3. RESULTS
3.1 Predictive power of the TUG-K

The mean score of the participants on the Testafestanding
Graphs in Kinematics was 17 out of a maximum of Phe
Pearson correlation between participants’ scor¢henTUG-K
and their data interpretation score ypas 0.555 (p < 0.05). The
Pearson correlation between their score on the RUBd their
modeling score wgs = 0.508 (p < 0.05).

3.2 The most problematic steps

Table 1 shows the ten steps with the lowest scanestheir
classification. The maximum step score is 18, whiabuld

mean every participant correctly used the stepegcdption of
these steps can be found in appendix E. A closs & these
ten steps is taken in the following sections.

Table 1. Scores and classifications of the most difficteps.

Step Score Classification
3.3 4.0 Data interpretation (observation)
3.4 7.75 Model evaluation (domain knowledge)
3.6 5.5 Model evaluation (domain knowledge)
4.5 2.0 Data interpretation (observation)
4.6a 2.5 Model evaluation (domain knowledge)
4.6b 3.25 Model evaluation (domain knowledge)
5.1 2.25 Model evaluation (modeling knowledge)
5.2 6.75 Model evaluation (modeling knowledge)
5.3 8.5 Data interpretation (observation)
5.5 6.5 Model evaluation (mathematical knowledge)

3.2.1 Data interpretation steps

All of the data interpretation steps that scoretha‘bottom 10’

were sub classified as observation steps. Lookingese steps
(see appendix E), it is clear that the steps ardiffacult per se.

Step 3.3 consists of noticing that two graphs heyeal values
for the first few seconds of a simulation, step ddhsists of
noticing that one graph has an asymptote abovehangraph

and step 5.3 consists of noticing that the decredse graph

accelerates at the start of the simulation, thewsldown and
the graph eventually starts to increase.

The problem with these steps seems to be that & mat

apparent to most participants that these featurékeographs
were important for the problem they were solvingisTis in

stark contrast with data interpretation steps witther scores,
such as those in the second case. It was cleahrostall

participants what features of a graph were relewdngn a slope
had to be calculated or a value of a graph at t@icetime had
to be found. These findings indicate that knowindich

features of a graph are important during a certagk is an
important skill in scientific discovery learning.

3.2.2 Model evaluation steps

Most of the difficult model evaluation steps wetth lassified
as model evaluation based on domain knowledgeogecllook
at these steps (appendix E) reveals that the dokmawledge
required is quite modest for students that have pteted
physics courses in high school. During the expemimeshen
these steps were explained to participants that i
successfully use them on their own, almost all sedpd with
phrases like ‘ah yes’ and ‘of course’. This ind&sathat most
participants did in fact possess the necessary iloma
knowledge, but were not able to use it at the gmate time
during the task.

Step 5.1 and 5.2 were classified as model evaluatiging
modeling knowledge. Very few participants succdfsfused
these steps on their own. A likely explanation tfee problems
participants had with these steps is their inexgmee with
dynamic modeling in general and the specific maodgli
language used in particular. The majority of thetipgants
reasoned at first that M (step 5.2, also see app&)demained
either constant or increased linearly, because as wonly
dependent on a constant. This was somewhat sugrisi
because participants had no problem recognizingarier
models that distance increased quadratically, évemgh it was
only dependent on a constant acceleration. Thedaekdomain
in which to place the different parts of the modeéms to be
partially responsible for this mistake. After peipants were



asked to draw diagrams for a, K, L & M, all excepe figured
out the effects of the integration steps in the ehott seems
likely that most participants would not have had rasch

difficulty with steps 5.1 and 5.2 if they had hadmnexperience
with this dynamic modeling language.

The final step that many participants found difficatep 5.5, is
sub classified as model evaluation based on matiieaha
knowledge. This step is not straightforward andunexs some
mathematical intuition, so it is not surprising tthenany

participants struggled with this step.

4. CONCLUSION

4.1 Morethan understanding graphs

The average score of participants on the TUG-Kpuf7of 21,
was very high. The most common difficulties Beich(994)
describes (graphs as picture errors, variable cworiy
nonorigin slope errors, area ignorance and argm#ieight
confusion) seemed to cause few problems for masicjpants.
These findings show that most participants werg¢eqgood at
reading and understanding graphs in the kinemat@sain.
Despite these high scores on the TUG-K, many ppatits
encountered problems during the data interpretatieps in the
second part of the experiment.

It was found that the correlation of participant®G-K scores
with their data interpretation scores was hardigreger than the
correlation between their TUG-K scores and theirdeting
scores. This rather surprising finding indicateattthe data
interpretation steps in the scientific discovergrieng process
are not particularly similar to the reasoning stepguired
during the more classical graph comprehension taskghe
TUG-K.

These results suggest that more is required frodests during
the data interpretation stage of scientific discgvearning than
‘just’ normal graph comprehension abilities.

4.2 Difficultiesduring data inter pretation

The most difficult data interpretation steps wehese sub
classified as observation steps. These consistedtafing and
recognizing as important a certain feature of plgrer a certain
difference between two graphs. The steps in therottvo
subclasses of data interpretation, calculation eodclusion,
caused very few problems for the participants.ekrss clear
that for many students the most difficult aspect dzfta
interpretation is knowing which features of a grapé relevant
for the task at hand.

4.3 Difficulties during model evaluation

Model evaluation based on domain knowledge wastibelass
that caused the most difficulties. A common themethiese
difficulties was that participants did not lack thldomain
knowledge necessary to successfully complete tBpsstbut
failed to use this knowledge. They did not recognthis
knowledge as being relevant for the task they vperéorming.
It is understandable that the ‘based on domain kedye’
subclass caused the most problems, because
participants to integrate knowledge about the mddewledge
about the results and knowledge about the domaimgia
reasoning step.

Most of the problems participants experienced il ‘based
on modeling knowledge’ steps seem to be due topemence
with the dynamic modeling language used. It isljikbat these
problems would occur less frequently as studentsine more
familiar with the modeling language.

it redqui

4.4 Suggestionsfor cognitive tools

The research described in this paper clearly showsaspects
of data interpretation and model evaluation thatients find
difficult: (1) recognizing which features of grapaie important
during data interpretation; and (2) using domaiovdedge at
the right time during model evaluation. The follogisections
offer suggestions for support during these tasks ¢ould help
students with these two problems.

4.4.1 Support for data interpretation

One of the most common data interpretation tasksngu
scientific discovery learning is comparing resuftem a
simulation with experimental results, usually bdtsplayed in a
graph. Tools could be developed that recognizeeuiffces
between the two graphs and point these out tottltest, but as
models become more complicated it will be very héod
automated tools to give meaningful feedback abce t
differences between two graphs. Moreover, this dauly help
students interpret data with the tools supportetheould be an
effectwith the cognitive tool's support, but no effedtthe tool
as Salomon et al. (1991) describe it.

Quintana et al. (2004) provide a number of scaiifgd
guidelines, of which the fourth, ‘provide structui® complex
tasks and functionality’, is especially relevant tbe task of
data interpretation. A cognitive tool could struetdhe task of
comparing two graphs, for example by asking thenleaa set
of questions about the differences between the hgraphis
could teach learners to think of graph comparis@n aa
structured process and help them find the reledéfgrences
between two graphs.

4.4.2 Support for model evaluation

The biggest problem during model evaluation wag thany
participants did not use the domain knowledge fhessessed at
the appropriate times. This result is in line wiltle finding by
Sins et al. (2005) that students constructed bettetels when
they used their own knowledge and that scaffoldsukh
encourage learners to activate their prior knowdedgoth
before and during the modeling task.

Although it would be difficult to develop a cogmé tool that
could assist learners in activating domain knowéedgactly
when needed, it seems plausible that a tool cotildeast
activate some prior knowledge. Such a tool wouldoenage
the learner to think more deeply about the diffemmponents
and relations in their model and the relation betweheir
model and the real world.

5. DISCUSSION

5.1 Explorative nature of thisresearch
Because little prior research had been done reggrdata
interpretation and model evaluation in the contxscientific
discovery learning, the nature of this research wasy
explorative. Therefore the results of the experimannumber
of difficulties students experience in a specificiestific
discovery learning setting, should be regardedoastgrs in the
direction of possibly valuable further researchheatthan a
definitive list of difficult aspects of data integiation and
model evaluation.

5.2 Ceiling effect on TUG-K scores

The average score of the participants on the TU@&§ so
close to the maximum possible score, that the spoéascores
was likely restricted by the ceiling effect. Itpsssible that this
had consequences for the correlations betweencipanis’
TUG-K score and data interpretation and modelingresc In



further research with equally skilled participands more
challenging test for the understanding of graplmikhbe used.

5.3 Possible problemswith verbal reports
Although verbal reports were used as an indicatbnthe
reasoning steps participants used when trying liedbe cases
in the second part of the experiment, strict gungs were not
used for participant-experimenter interaction. §s@n & Simon
(1980) caution that verbalizing can change the itivgn
processes of participants, when verbalization fafrination that
would not otherwise be attended to is required.ifi@uithe
experiment participants were specifically askednntion the
features of models or graphs they noticed andpbissible that
this affected their reasoning.

The other side of this problem is that some featofegraphs or
models were perhaps noticed by participants buterpticitly
verbalized. This could cause the scores on
interpretation (observation) steps to be lower ttray should
be.

5.4 Suggestionsfor further research

The research described in this paper gives anatidit of some
of the problems experienced by many learners dudata
interpretation and model evaluation. Further redeacould
focus on characteristics of learners that succlgsiuercome
these problems and the methods they use. This cgivlel
insight into new ways of supporting students dutimgse tasks.

The suggestions for cognitive tools in this papes sery
general and abstract. It would be interesting toh&r specify
the requirements and goals of these tools and devel
prototypes. These could be used with the materidted for
this experiment and their effectiveness could kmered.

Perhaps most important of all, more quantitativeeagch
should be done to study the cause of the diffiesithe learners
experience. This will hopefully confirm that theusas for the
difficulties found in the explorative, qualitativeesearch
described here are in fact important and significan
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Appendix A

Deel 1: meerkeuzevragen

Hieronder staan vijf versnelling versus tijd arafieken. Alle assen hebben dezelfde schaal. Well object had
de grootste verandering in snelheid tijdens het interval?

T = g 2 z
EN () £, ® £ © ERTN) £ ®
F i 2 E 2
8 T m— 4 @ @
2 2 g 2 $
o g [} 0 0
Tijd Tijd Tijd Tijd Tijd
O4a OB OC OD OE
@ Wanneer is de versnelling het meest negatief?
(A)Rnaar T =
(B) T naar v @RS TUVWXYZ
(C) V ; . . . . . . .
(D) X 5
(E) X naar Z Y 4
]
\, Tijd
Os4 OB OC OD OE
@ Rechts staat een grafiek van de beweging van een object. Welke zin is de beste interpretatie?

(A} Het object beweegt met een constante versnelling, ongelijk aan 0. E

(B) Het abject beweegt niet. k7]

(C) Het object beweegt met een uniform toenemende snelheid. <

(D) Het object beweegt met een ¢onstante snelheid. o

(E) Het object beweegt met een uniform toenemende versnelling. Tijd

O4a OB OC OD OE

Een lift beweegt van de begane grond naar de tiende verdieping van een gebouw. De massa van de liftis 1000 kg
en hij beweeot zoals getoand in de snelheid-tijd grafiek hieronder. Hoe ver heweegt de lift tijdens de eerste drie

secanden?
T 5
g o
(8) 075 m =N AN
(B)1.33 m Z
(C)40m c 3
(D) 6.0m /
(E)12.0 m 2 /
1
0
0 1 2 3 4 5 6 T 8 & 10
Tijd (s)
O4sa CB CC OD QE
@ De snelheid op het 2 seconde punt is:
() 0.4 mis = B
(B) 2.0 mfs -
(C) 2.5 mis £ 10
(D) 5.0 mis 5
(E) 10.0 mis = 5|/
@
> 0
0 1 2 3 4 5 Tjd(y

O4 OB OC OD OE




o Deze grafiek toont snelheid als een functie van tjd voor een auto met een massa van 1800 kg. Wat was de versnelling
na 80 seconden?

(R) 0.22 misls z g

(B) 0.33 misis c %0

(C) 1.0 misls B

(D) 9.8 misls 5

(E) 20 misls 5 20
10
0

0 30 60 9 120 150 t8o [lidés)

04 OB OcC OD OE

@ De heweging van een ohject datin een rechte lijn heweeqt is gerepresenteerd in de volgende grafiek. Op tijdstipt = B8 s is
de verznelling het dichtst bij:

7 40
(8) 1 misis g /

(B) 2 misls T

(C) 9.8 misis & /

(D) 30 misls —

(E) 34 misis

10

0 20 40 60 80 100 Tijd )

C4 OB OC OD OE

Hier is een grafiek van de beweging van een ohject. Welke zin is een correcte interpretatie?

Verplaatsing

o Tijd

(A) Het object rolt over een plat oppervlak. Dan rolt het vooruit van een heuvel en uiteindelijk stopt het.
(B) Het object beweegt eerst niet. Daarna rolt het vooruit van een heuvel en stopt uiteindelijk.

(C) Het object beweegt met een constante snelheid. Dan vertraagt het en stopt het.

(D) Het object beweegt eerst niet. Daarna beweegt het achteruit en uiteindelijk stopt het.

(E)} Het object beweegt over een vilak gebied, beweegt achteruit van een heuvel en beweegt dan verder.

C4 OB OC OD CE

Een object begint uit rust en ondergaat een positieve, constante versnelling gedurende tien seconden. Daarna gaat het verder met een
constante snelheid. YWelk van de volgende grafieken beschrift deze situatie correct?

"y @ " ® g © a O ®
E e 2 @ o
L] ] 0 [} ]
o 5 10 18 0 B 10 15 o 5 10 15 0 5 1 15 e 5 1w 15
Tijd (s Tijd {s) Tijd {s) Tijd (s} Tijd (s)

C4 OB OC OD OCE

Yijf objecten bewegen volgens de volgende versnelling versus tijd grafieken. Welk object heeft de kleinste verandering in
snelheid tijdens het drie seconden durende interval.

) ) . © ©) )

s 2 2 % g

3 3 2 2 =

E ° 3 E ¢ 3 E o 2o 3 ) 3
Tijd (s) Tijd (s) Tijd {s) > Tijd (s) = Tijd (s)

C4a OB OC OD CE




Het volgende is een verplaatsing-tid grafiek voor een object gedurende een & s tijdsinterval.

Verplaatsing

5
Tijd fs)

Welk van de vaolgende snelheid versus tijd grafieken zou de beweging van het object tidens hetzelfde tijdsinterval het best
representeren?

3 3+ ®) 3
T 3 3
5 @ &
Ll :—i *' Tijd (s) Tijd (s)
3+ ©) = ()
= @
s L s
e 3 o Tijd ) s e s Tide)
Oa OB O©OC OD CE
@ Bekijk de volgende grafieken. Let daarbij op de verschillende assen
U] m (i v v
= T eeeei— = z
E E El £ =
: s s E 2
g & & 5 s
0 " g —— 0 B —
Tijd Tijd Tijd Tijd Tijd
Welkie) van deze grafieken represente(ertiren) beweging met constante snelheid?
(B) L, len IV
(B} lenl
(C)llenV
(D} alleen IV
(E) alleen V

Oa OB OC OD OE

Afstand versus tijd grafieken voor viff abjecten zijn hieronder te zien. Alle assen hebben dezelfde schaal. Welk object heeft de hoogste
maximale snelheid tijdens dit interval?

W 1 ® | © ] © -l ®
z Z Z z £
[} [ —— ] 0 [}
Tijd Tijd Tijd Tijd Tijd

Oa OB Oc OD OE



Het volgende representeert een snelheid-tiid grafiek voor een object tijdens een & s tijdsinterval.

Snelheid

Welk van de volgende grafieken van versnelling wersus tijd zou het best de beweging van het ohject representeren tijdens
hetzelfde tijdsinterval?

2t @ =* ®) 2* ©)
] i = Tijd {s]
n L Tija ) . ° a— e
=t ©) =
3 |
T s e s Tiid ) = Tijd (s)
Oa OB OC OD OE
@ Het valgende representeert een versnellingsorafiek voor een obiject gedurende een & s tijdsinterval.
+
=
%
2
S e Tijd ()
Welk van de volgende grafieken wan snelheid versus tijd zou het best de heweging wan het ohject gedurende hetzelfde
tijdsinterval representeren?
= = * = +
E = ®) z (]
2 E E
w o o
Tijd fs) ° Tijd (s} ° Tijd {sf
4 8 ]
E E
7 I

Tijd s} Tijd s}

CA OB OC OD OE

Een ohject beweeqt volgens de grafiek hieronder:

: N

Versnelling

o 1 2 3 4 5 6 7 8 9 10 Tidf

De verandering van de snelheid van het object tijdens de eerste drie seconden was

(8) 0.66 mfs
(B) 1.0 mis
(C) 3.0 mis
(D) 4.5 mis
(E) 9.8 mls

CaA OB OC OD OCE



@ De snelheid op het 3 seconde punt is angeveer:

(s)

= 15
() 3.3 ms 2 1
(B) 2.0 mfs g
(C) 0.67 mis s / N,
(D) 5.0 mis e 5 ]
(E) 7.0 mis >

0o 1 2 3 4

O4 OB OC CD OE

s Tidis

Als je de afgelegde afstand tijdens hetinterval vant = 0 s tott = 2 = met deze grafiek wilde

bepalen, zou je;

(A) Direct 5 van de verticale as aflezen.

15|
(B) Het oppervlak tussen dat lijnsegment en de tijdsas e
bepalen door (5x2)/2 uit te rekenen. £ 4
(C) De helling van dat lijnsegment berekenen door 5 te = L~
delen door 2. E -
(D) De helling van dat lijnsegment berekenen door 15 i
te delen door 5. “ 0/
(E} Er is niet genoeg informatie om antwoord te geven. 0 1 2 3 4 5
Tijd (sh
Oa OB OC OD OE
Bekijk de walgende grafieken. Let daarhij op de verschillende assen.
) (n (ny ) ]
= = =
= = eee— = =
H E 2 g 3
2 5 & 3 2
[ g —— = -
° Tijd Tijd Tijd Tijd Tijd

Welk{e) van deze grafieken represente(ertiren] heweging met een constante acceleratie, ongelijk aan nul?

(A)LNNenlV
(B)lenlll
(CyllenV
(D} alleen IV
(E) alleen V

Oa OB OC OD OE




Een object beweegt volgens de grafiek hieronder:

s 4
£ 3
= v
3 ol A
P4
w 1

0

0 1 2 3 4 5 €6 7 & 9 10 Tidg

Hoever beweegt het tijdens het interval vant =4 s tott = 3 7

(A)0.75 m
(B)3.0m
(C)4.0m
(D)8.0m
(E) 12.0 m

04 OB OC OD OE

@ Fechts staat een grafiek van de heweqing van een object. Welke zin is de heste interpretatie?

(A} Het object beweegt met een constante versnelling.

(B) Het object beweegt met een uniform afnemende versnelling.
(C) Het object beweegt met een uniform toenemende snelheid.
(D) Het object beweegt met een constante snelheid.

(E) Het object beweegt niet.

Snelheid

° Tijd

04 OB OC OD OE

Kl op 'verder' om door te gaan naar het tweede deel van het onderzoel.



Appendix B

Deel 2: casussen

Tnleid
Inleiding deel 2
Uttleg

Dit gedeelte van het onderzoek heeft als doel mzicht te krijgen in de manier waarop mensen relaties leggen tussen grafieken en

Voorbeeld 1 maodellen. Om dit te onderzoeken zal een eenvoudige modelleertaal worden geintroduceerd.

Voorbeeld 2

Nadat een korte witleg 15 gegeven over de gebruiete modellen, mllen twee voorbeeldoasuszen besproken worden. Deze voorbeelden
Casus 1 oillen duidelijk maken wat de bedoeling is i de casussen die hierop volgen Voor het onderzoek 1z het belangnik dat je hardep
Casus 2 naderkt terwijl je met de casussen berig bent. Op deze manier wordt duidelik hoe je de beschikbare informatie gebruiket Om te
Cagus 3 wennen aan het hardop nadenken kun je de telest hardop lezen; dan voelt het daarna met vreemd om meens hardop je gedachten te
Casus 4 verwoorden. Als je op enig moment niet precies begrijpt wat de bedoeling is, of iets niet helemaal snapt, kun je altijd een vraag
Casus 5 stellen.
Afeluiting Klik ris in het menu aan de linkerkeant op Uitleg' om verder te gaan.

Deel 2: casussen

Inlei

Uitleg modellen en simulaties

Uitleg

In de volgende voorbeelden en casussen wordt steeds gebruik gemaakt van modellen om bepaalde situaties te beschrijven.

Voorbeeld 1 Hieronder staat een voorbeeld van een dergelijle model De symbolen die in dit model gebrudet worden, worden toegelicht.

Voorbeeld 2
Casus 1 ¢y @
Casus 2 Banksalde
Casus 3
Casus 4
Casus 5
Afsluiting
Rente_percentage Rente Collegegeld
|S}_'mhuul |N aam en betelkenis Voorbeeld
Ve d theid
I:l SOTTANREranieis . Het banksaldo kan ellke maand toenemen of
Deze grootheid kan i de loop van de tjd van waarde veranderen. BEr kan
Banksaldo ; . . affiermen
steeds tets bijkomen of iets vanaf gaan.
O [Relengrootheid De rente 15 athanlelifl van het banksaldo en
remte |DeZe grootheid wordt berekend op basis van andere grootheden. het rentepercentage.
Canstante Het collegegeld en het rentepercentage zijn
Collegegeld |[D'eZe grootheid verandert n de loop van de tijd niet van waarde. iedere maand gelijle.
|Pijl |N aam en betekens

Straampiil
C) > EO Een stroompijl begint enfof eindigt altijd in een voorraadgrootheid. Deze pijl geeft aan dat er

iets van de grootheid afgaat of dat er iets baylomt.

Relatiepifi

D/ Een relatiepifl loopt altijd naar een rekengrootheid of stroompifl toe. De pyl begint i een
andere grootheid. Dit geeft aan dat de rekengrootheid of stroompijl van deze andere

orootheid afhanbelil 5.




Optrekkende auto

Idet behulp van een dergelijk model kan een simulatie worden uitgevoerd. Dit wordt uitgelegd aan de hand van een model van een
optreldeende auto. In de onderstaande afheelding 12 dit model van een versnellende auto te men.

Afgelegde_afstand

Snelheid

Wersnelling

In dit model worden de meeste hierboven beschreven symbolen gebruidet. Br wordt een aantal zalcen duidelijl vt dit model:

® De versnelling 15 constant (hoe zie je dat?)
® De snelheid iz alleen athankelijk van de versnelling {met zakeen als luchtwhpang wordt dus geen releening gehouden)
® De afgelegde afstand iz alleen athanbeelijl van de snelheid

Simulaties
Dioor een simulatie uit te voeren kan duidelijk worden hoe de verschillende grootheden met de tijd veranderen. Het vitvoeren van een

sitruilatie levert data op die overzichtelijle in een grafiel kan worden weergegeven. Hieronder staat een grafiel met daarin de
resultaten van een simulatie die gedramd 5 van het model van de optrelileende auto gedurende 10 seconden.

Resultaten

260
r — vershelling (m/s/s)

240 I — snelheid im/s)

— afgelegde afstand (m/z)

220

200

180

160 -

140

120

100

g0 -

60 -

40 +

20 -

o b= I I I I I I I I i

=] 10
tijd (=ech

In deze grafiel zin een aantal zakeen te men:

® De constante versneling 15 gelyk aan 5 m/fsfs
® De snelheid neemt lineair toe
® De afgelegde afstand neemt steeds sneller toe

Zotrg dat je begnipt hoe deze resultaten uit het model volgen voordat je verder gaat met de voorbeelden en casussen



Deel 2: casussen

Tnles
_ Voorbeeld 1
Titleg
ardop nadenken!
Voorbeeld 1 & P )
Voorbeeld 2 Situatie
Casus 1 Ruud wil het vollopen van een emmer met water modelleren. De emmer staat onder een kraan waar 0.25 liter water per seconde
Casus 2 uitstroomt. De mhoud van de emmer i3 10 lter.
Casus 3
Casus 4 Model
Casus 5
. Eamd modelleert deze situatie als volgt:
Afeluiting

WMiater_in_emmer

Wrater_uit_kraan

Simulatie

Eamd sirnuleert het vollopen van de emmer gedurende twee minuten en vergelijlet de resultaten van zin model {model data) met een
set echte meetgegevens (experimentele data). Beide zets data min in de onderstaande grafiel: weergegeven.

Resultaten

[
E=3

— model data
— experimentele data

inhoud emmer Cliterd
I
o

r
=

15

10

o L L L L L I
0 20 40 ) ) hily)

120
tijd (zech

Conclusie

Crp basis van deze meetresultaten bedenbet Eund zich dat byy i zign model vergeten 1z releening te houden met overstroming van de
emmer als deze volgelopen is. Hij voegt een vartabele 'overstroming' toe aan mijn model Hieronder 12 dit miewwe model weergegeven:

O ol

Inhoud_emmer

Wrater_uit_kraan
Oherstroming



Deel 2: casussen

Inlet
_ Voorbeeld 2
Uitleg
ardop nadenken!

WVoorbeeld 1 (Hardop )
WVoorbeeld 2 Situatie

% Paul iz werzot op parachute-springen en beshiut een model te maken om de afstand die by in de eerste paar seconden van een sprong

% aflegt te bepalen. Hij houdt hierbij geen rekeening met lnchtweerstand.

asug

Casus 4 Model

Casus 5

Afsluting

Afgelegde_afstand

Snelheid

Walversnelling

Simulatie

Zijn snelheid 15 volgens dit model na 5 seconden echter een stulz lager dan Paul verwacht had. Daarom beshut by by ziyn velgende
sprong een snelheidsmeter mee te nemen. De snelheid 12 ook volgens de snelheidsmeter een stul hoger dan wolgens het model De
resultaten zin hieronder weergegeven:

Resultaten

=

o

=
1

— model data
— experimentele data

=y

¥

=
T

=

=

=
T

afgelegde afstand (meter)

o
E=
T

60 -

40 -

20 -

5
tijd f=ech

Conclusie

Crmdat de resultaten dezelfde vorm hebben, denkt Paul dat de structhr van zin model i principe Kopt, Hi vermoedt dat hij een
verkeerde versnellingsconstante gebrudkt heeft. Hij zoekt de juiste constante op en nadat hij deze in zijn model heeft aangepast, blijkt
dat het model nu een goede beschrijving van de werlcelijltheid oplevert.



Deel 2: casussen

Inles
_ Casus 1
Uitleg
ardop nadenken!
WVoorbeeld 1 (Hardop )
WVoorbeeld 2 Situatie
Casus 1 Eees zet aan het begin van ieder jaar 250 euro op een spaarrelkening. Aan het eind van eder jaar kriggt by 6.0% rente over het
% bedrag dat aan het begin van het jaar op zyn rekening staat (inclusief de storting van dat jaar).
asus
Casus 4 Model
Casus 5
) In de onderstaande afbeelding is te zien hoe Kees deze situatie heeft gemodelleerd.
Afsluting

-, ]

Spaarrekening

Jaarlijkse_storting Storting_en_rente Rente_percentage

Simulatie

Kees blijft 25 jaar op deze manier sparen. In de onderstaande grafiek zin zowel de werkelijke saldi (bank data) als de saldi zoals
voorspeld door het dynamizche model (model data) te zen.

Resultaten
16000 ~

14000

zaldo Ceural

— model data
= hank data

12000

10000

000 -

BO00

4000 -

2000 -

0 | | | | | | | | | | | | |

22 24 26
tijd Cjaard

Opdracht

Geef aan hoe het model gewijzigd kan worden zodat het de werkeeljkheid beter beschrft.



Deel 2: casussen

Inleiding
Casus 2
Uitleg
ardop nadenken!
WVoorbeeld 1 (Hardop )
Woorbeeld 2 Situatie
% FEonald speelt met een elastiekje en vraagt zich af hoe groot de kracht iz, die nodig is om het elastielje wit te reldeen. Hiy weet dat het
% altiyd ongeveer evenveel extra kracht kost om het elastielje 1 cm verder uit te relideen.
asus
Casus 4 Model
Casus 5
. Hij beshit de situatie als volgt te modelleren:
Afshiting

Lengte_elastick

Beweging_Ronald

kracht_elastiek Elasticiteitzconstante

Lengte_ontspannen_elastiek

Simulatie

Wanneer Fonald het model gebruikt om een simulatie te draaten, krijgt hyj de volgende resultaten:

Resultaten

— lengte elastiek imd
1.0+ — kracht elastiek (N

0.0 | | | | | | | | | |

g 9 10
tijd Cseconden)

Opdracht

Wat kun je naar aanleiding van de resultaten zeggen over:

- De snelheid waarmee Fonald het elastiel uitrelet?

- Die hoeveelheid kracht die het kost om het elastiel 5 cm wit te rekken?

- Die betekenis van de 'Elasticiteitsconstante' en Lengte_ontspannen_elastiek' i het model?



Inleiding

Uitleg

WVoorbeeld 1
Voorbeeld 2

Casus 1
Casus 2
Casus 2
Casus 4
Casus 5

Afshuiting

Deel 2: casussen

Casus 3

(Hardop nadenken!)

Situatie

Ronald speelt ook graag met lego en de laatste constructie die hij gebouwd heeft, bestaat uit een door een motortje aangedreven auto
die met een elastielje aan een legofort verbonden 1. Wanneer de motor wordt aangezet begint de auto van het fort weg te rijden. Als
het autootje begint met rijden is het elastiel nog in ontspannen toestand, maar als het autootje ver genoeg van het fort verwijderd is,
zal het elastiek gespanmen staan. Hoe verder het elastiek witrekt, hoe groter de kracht die het witoefent op het autootye.

Model

Het correcte model om deze situatie te beschnjven is lieronder weergegeven.

Dit model is ingewikdeelder dan eerdere modellen die je hebt gezien, maar waarschijnlijl herken je wel bepaalde delen. Meem de tijd
om dit model te bestuderen en zorg dat je het helemaal begrijpt voor je verder gaat. 3tel gerust vragen als iets miet duidelijle is.

Afgelegde_afstand

Snelheid

Massa_autestje

Wirijving

Wersnelling Elasticiteits_constante

Kracht_motor  Voonwaarse_kracht Kracht_elastiek | angte_ontspannen_elastiek

Simulatie

Woordat Ronald by dit correcte model vitkwarr, 15 hij een hele tijd bezig geweest. Hieronder staat het resultaat van een simulatie die
gedaan 15 met een van Fonald's eerdere modellen. Dit model was et helemaal correct en de resultaten verschillen dan ookt van de
resultaten die een sumulatie met het correcte model oplevert.

Resultaten

— afstand tussen fort en auto correcte model (m)
— afstand tussen fort en auto verkeerde model (m)

0.00 I | | | | I

100 12
tijd (secondend

Opdracht

Probeer op basis van de resultaten te beredeneren op welke manier het verkeerde model afwnikt van het correcte model



Deel 2: casussen

Tnlei.
Casus 4
Titleg
ardop nadenlcen!

Voorbeeld 1 & P )
Voorbeeld 2 Situatie

% Deze casus heeft betrekking op dezelfde situatie als de vorige casus. Hieronder s nogmaals het correcte model weergegeven van de

Casus 2 situatie

Casus 3

Casus 4 Model

Casus 5

Afshuting

Afgelegde_afstand

Snelheid

Massa_autootje

Wersnelling Wrijwing Elasticiteits_constante

kracht_moter  Woonwaarse_kiacht Kracht_elastiek | angte_ontspannen_elastiek

Simulatie

Die resultaten i de onderstaande grafiel zmin wederom van sen simulatie van een ander mcorrect model en het correcte model van de
situatie.

Resultaten

= afstand tussen fort en auto correcte model (m)
— afstand tussen fort en auto verkeerde model (m2

100 12
tijd (secondend

Opdracht

Probeer opnieuw opy basis van de resultaten te beredeneren op welle manier het verkeerde model afwijlct van het correcte model.



Inlesding

Uitleg

Voorbeeld
Voorbeeld

Casus 1
Casus 2
Casus 3
Casus 4
Casus 5

Afsluiting

[ P

Deel 2: casussen
Casus 5
(Hardop nadenkeenl)
Situatie

Deze laatste casus zit anders i elkaar dan de voorgaande casussen. Er wordt hier geen situatie geschetst. Er wordt alleen een (deel
van een) model gegeven en het resultaat van een simulatie met dit model.

Model
O i ] % )
hd
L
K
Simulatie

De onderstaande grafiel is het resultaat van een sumulatie met het volledige model, waarvan hierboven een deel is afgebeeld.

Resultaten
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Opdracht

Beredeneer hoe het ontbreleende deel wan het rodel er ongeveer uit moet zien en teleen dit in het model



Appendix C
Antwoordformulier onderzoek data-interpretatie

Datum:

Tijd:

Casus 1

Geef in het onderstaande model aan hoe het gewijzigd kan worden zodat het de werkelijkheid beter
beschrijft.

O 3% L]

Spaarekening

Jaarlijkse_storting Storting_en_rente Rente_percentage

Casus 2
Wat kun je naar aanleiding van de resultaten zeggen over:

- De snelheid waarmee Ronald het elastiek uitrekt?

- De hoeveelheid kracht die het kost om het elastiek 5 cm uit te rekken?

- De betekenis van de Elasticiteitsconstante en Lengte_ontspannen_elastiek in het model?



Casus 3
Geef in het onderstaande model aan op welke manier het verkeerde model afwijkt van het correcte model.

Afgelegde_afstand

Snelheid

hlassa_autootje Werznelling

Wrijwing Elasticiteits_constante

@

Kracht_matar “Woonmaarkse_kracht kracht_elastiek Lengte_ontspannen_elastiek




Casus 4
Geef in het onderstaande model aan op welke manier het verkeerde model afwijkt van het correcte model.

Afgelegde_afstand

Snelheid

hasza_autootje Wersnelling Wirijwing

Elasticiteits_constanta

Q

kracht_motor  “oonwaarse_kracht kracht_elastiek | ongte antspannen_elastiek

Casus 5
Teken het ontbrekende deel in het onderstaande model.

O = ]

C) 3 L
C) = ;

O




Appendix D
Hints bij casussen

--- Casus 1 ---
1. Waarvan is het bedrag dat er jaarlijks bijkofhaakelijk?

--- Casus 2 ---

1. (Bij de eerste vraag) Hoelang is het elastieR saconden? Hoe lang is het elastiek na 10 seaBnde

2. (Bij de tweede vraag) Als het elastiek in onitspn toestand is kost het geen kracht om het uitkieen.
Na hoeveel seconden is het elastiek 5 cm uitgerekt

3. (Bij de derde vraag) Stel je hebt een elastish 20 cm lengte. Waarvan is de kracht die dit iellast
uitoefent afhankelijk?

(de 'stugheid' van het elastiek en de lengte eafispannen elastiek)

--- casus 3 ---

1. Tijdens de eerste paar seconden liggen de robawe grafiek op elkaar. Wat betekent dit?

2. Wat kun je zeggen over de frequenties van deepieg in het correcte en incorrecte model?
2a. Welke verschillen in het model kunnen hierdaroorzaak zijn?

---casus 4 ---

1. De rode grafiek ligt al vanaf het begin boverbtieiwe grafiek. Wat betekent dit?
la. Welke verschillen in het model kunnen hiergdaroorzaak zijn?

2. Wanneer stopt het autootje met heen en weerdswe
2a. Welke krachten moeten in evenwicht zijn?

2b. Als het autootje eenmaal stilstaat, welke celen van het model hebben dan invioed op de
voorwaartse kracht?

(die gelijk is aan 0)

---casus 5 ---
1. Hoe zou de grafiek eruit zien als er niets indegleelte met het vraagteken stond?
la. Schets voor jezelf de grafieken van a, K, M&
1b. Kun je aangeven hoe de functies van a, K,M & ongeveer uit zien? Begin met a: y=6.
a:y=6, K:y=6t, L: y=3t"2, M: y =t"3
2. De grafiek van M is gelijk aan de functie dieng hebt beschreven min de onbekende functie.
2a. Hoe ziet deze onbekende functie eruit?
2b. Hoe ziet deze functie eruit in het model?



Appendix E
Classificatie redeneerstappen

Casus1

Stap Opmerking / redenering Classificatie

1 ‘Model data’ neemt lineair toe, maar ‘bank data’ neemt steeds sneller | Data interpretation
toe. (observation)

2 ‘Storting_en_rente’ wordt berekend aan de hand van twee constanten | Model evaluation
en zal dus zelf ook constant zijn. (based on modeling

knowledge)

3a Het bedrag dat er in een bepaald jaar bijkomt op de spaarrekening is Model evaluation
ook afhankelijk van het huidige bedrag op de spaarrekening. Er moet (based on domain
dus een terugkoppeling in het model zitten. knowledge)

3b De bank data nemen steeds sneller toe, dit betekent het bedrag wat er | Data interpretation
jaarlijks bijkomt op de spaarrekening in de loop van de tijd groter moet | (conclusion)
worden. Dit kan gerealiseerd worden door een terugkoppeling aan het
model toe te voegen.

4 Deze terugkoppeling kan worden toegevoegd door een relatiepijl toe Model
te voegen van ‘Spaarrekening’ naar ‘Storting_en _rente’. implementation

Casus 2

Stap Opmerking / redenering Classificatie

1 De toename van ‘lengte elastiek’ is lineair, dus de snelheid waarmee Data interpretation
Ronald het elastiek uitrekt is constant. (observation &

conclusion)

2 Deze snelheid is gelijk aan (0.15 - 0.05) / 10 = 0.01 m/s. Data interpretation
(calculation)

3 Het elastiek wordt met 0.01 m/s uitgerekt, dus na 5 seconden is het 5 Data interpretation

cm uitgerekt. (calculation)

4 Na 5 seconden is ‘kracht elastiek’ gelijk aan 0.5 N. Data interpretation
(observation &
conclusion)

5 De ‘Elasticiteitsconstante’ is de kracht die nodig is om het elastiek een Model evaluation
bepaalde afstand verder uit te rekken, hier in Newton per meter. Het (based on domain
kan ook gezien worden als de kracht die het elastiek uitoefent wanneer | knowledge)
het een bepaalde afstand is uitgerekt.

6 ‘Lengte_ontspannen_elastiek’ is de lengte van het elastiek wanneer er | Model evaluation
geen kracht op wordt uitgeoefend. Deze waarde wordt gebruikt om te | (based on domain
bepalen hoever het elastiek, als het een bepaalde lengte heeft, is knowledge)
uitgerekt.

7 Bij 0 seconden is ‘kracht elastiek’ gelijk aan 0 N en lengte elastiek gelijk | Data interpretation
aan 0.05 m. Dus ‘Lengte_ontspannen_elastiek’ is gelijk aan 0.05 m. (observation &

conclusion)




Casus

3

Stap Opmerking / redenering Classificatie
1 De vorm van de rode grafiek lijkt op die van de blauwe grafiek. Data interpretation
(observation)

2 Omdat de rode grafiek dezelfde vorm heeft als de blauwe grafiek, is er | Data interpretation
waarschijnlijk een fout gemaakt bij één van de constanten in het (conclusion)
model.

3 Tijdens de eerste paar seconden van de simulatie liggen de grafieken Data interpretation
op elkaar. (observation)

4 Omdat de grafieken tijdens de eerste paar seconden gelijk zijn, kan de Model evaluation
fout niet bij ‘Kracht_motor’, ‘Massa_autootje’ of bij de wrijving (based on domain
(verborgen constante) liggen. Deze constanten hebben namelijk al knowledge)
vanaf het begin invloed op de snelheid (en dus afgelegde afstand) van
het autootje.

5 Het autootje beweegt in het correcte model en het verkeerde model Data interpretation
met dezelfde frequentie voor- en achteruit. (observation)

6 De ‘Elasticiteits_constante’ heeft invloed op de frequentie waarmee Model evaluation
het autootje heen-en-weer beweegt, dus hierin kan de fout niet zitten. | (based on domain
De fout zit dus in ‘Lengte_ontspannen_elastiek’, de enige constante die | knowledge)
overblijft.

Casus 4

Stap Opmerking / redenering Classificatie

1 De vorm van de rode grafiek lijkt op die van de blauwe grafiek. Data interpretation

(observation)

2 Omdat de rode grafiek dezelfde vorm heeft als de blauwe grafiek, is er | Data interpretation
waarschijnlijk een fout gemaakt bij één van de constanten in het (conclusion)
model.

3 De grafieken zijn al vanaf de eerste seconde verschillend. Data interpretation

(observation)

4 Omdat de grafieken al vanaf de eerste seconde verschillend zijn, zal de | Model evaluation
fout niet in de ‘Elasticiteits_constante’ of ‘Lengte_ontspannen_elastiek | (based on domain
zitten’. (Als de rode grafiek onder de blauwe grafiek zou liggen, zou dit | knowledge)
wel veroorzaakt kunnen worden doordat ‘Lengte_ontspannen_elastiek’
op 0 staat of vergeten is in het model).

5 Het autootje in het verkeerde model komt op een andere afstand van Data interpretation
het fort tot stilstand dan het autootje in het correcte model. (observation)

6a Omdat het autootje in het verkeerde model op een andere afstand van | Model evaluation
het fort tot stilstand komt dan in het correcte model, kan de fout niet (based on domain
in de wrijving of de massa van het autootje zitten, want de waarden knowledge)
hiervan hebben daar geen invloed op. Het moet dus wel aan de kracht
van de motor liggen.

6b Een andere massa zou zorgen voor een andere periode van het voor- Model evaluation
en achteruit bewegen van het autootje. Wanneer de (based on domain
wrijvingsconstante (die verborgen is in het model) niet als mogelijke knowledge)
oorzaak wordt meegenomen, kan hierdoor ook beredeneerd worden




‘ dat het probleem bij de kracht van de motor ligt.

Casus 5

Stap Opmerking / redenering Classificatie

1 Aan de locatie van het vraagteken is te zien dat alles wat nog ontbreekt | Model evaluation
in het model van M wordt afgetrokken en niet op een andere manier (based on modeling
invloed heeft op a, K, L of M. knowledge)

2 Aan de linkerkant van het model is een constante te zien die drie keer Model evaluation
geintegreerd wordt. M is dus een derde graads functie waar nog iets (based on modeling
van wordt afgetrokken. knowledge)

3 Aan de resultaten is te zien dat M eerst steeds sneller afneemt en dan Data interpretation
minder snel gaat afnemen en tenslotte steeds sneller gaat stijgen. (observation)

4 Omdat de waarde van M aan het begin steeds sneller daalt, zal het Data interpretation
ontbrekende deel van het model aan het begin steeds sneller (conclusion)
toenemen.

5 Omdat het ontbrekende deel (in ieder geval aan het begin) steeds Model evaluation
sneller toeneemt, kan het geen constante of lineaire functie zijn. Hetis | (based on
dus een tweede graads functie of hoger. Omdat M uiteindelijk gaat mathematical
stijgen, zal het ontbrekende deel van het model geen derde graads knowledge)
functie of hoger zijn. Dus is het een tweede graads functie. De daling
aan het begin kan verklaard worden door een grotere constante (dan
a) in het ontbrekende deel van het model.

6 De tweede graads functie kan gemodelleerd worden door een Model
constante bij een voorraadgrootheid op te tellen en deze implementation
voorraadgrootheid van M af te trekken. (Eén stap minder dan aan de
linkerkant van het model.)




